Month Ended: May 31, 2023



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$5,301,848.33	\$4,658,776.65
Contributions	\$8,000.00	\$513,450.73
Withdrawals	(\$35,000.00)	(\$140,000.00)
Transfers In/Out	\$0.00	\$0.00
Income	\$3,969.62	\$14,100.88
Administrative Expense	(\$72.48)	(\$413.84)
Investment Expense	(\$115.95)	(\$1,097.24)
Investment Manager Fees	(\$6.02)	(\$191.76)
IFA Loan Repayment	\$0.00	(\$3,949.60)
Adjustment	(\$204.57)	(\$204.57)
Realized Gain/Loss	\$10.00	\$1,976.01
Unrealized Gain/Loss	(\$74,294.02)	\$161,687.65
Ending Balance	\$5,204,134.91	\$5,204,134.91

Performance Summary:

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(1.33%)	(0.45%)	3.83%	N/A	N/A	N/A	N/A	10.57%	10/03/2022

BRAIDWOOD POLICE PENSION FUND

Fund Name:

Transition Pool

Month Ended: May 31, 2023



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$150.80	\$8,754.43
Contributions	\$0.00	\$0.00
Withdrawals	\$0.00	\$0.00
Transfers In/Out	(\$148.24)	(\$9,117.65)
Income	\$0.59	\$11.02
Administrative Expense	\$0.00	\$0.00
Investment Expense	\$0.00	\$0.00
Investment Manager Fees	\$0.00	\$0.00
IFA Loan Repayment	\$0.00	\$0.00
Adjustment	\$0.00	\$0.00
Realized Gain/Loss	(\$3.02)	\$282.09
Unrealized Gain/Loss	(\$0.13)	\$70.11
Ending Balance	\$0.00	\$0.00

Unit Value Summary:

	Current Period	Year to Date
Beginning Units	16.620	1,002.664
Unit Purchases from Additions	0.000	0.000
Unit Sales from Withdrawals	(16.620)	(1,002.664)
Ending Units	0.000	0.000
Period Beginning Net Asset Value per Unit	\$9.073836	\$8.731284
Period Ending Net Asset Value per Unit	\$0.000000	\$0.000000

Performance Summary:

BRAIDWOOD POLICE PENSION FUND

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	10/14/2022

BRAIDWOOD POLICE PENSION FUND

Fund Name:

IPOPIF Pool

Month Ended: May 31, 2023



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$5,301,697.53	\$4,650,022.22
Contributions	\$8,000.00	\$513,450.73
Withdrawals	(\$35,000.00)	(\$140,000.00)
Transfers In/Out	\$148.24	\$9,117.65
Income	\$3,969.03	\$14,089.86
Administrative Expense	(\$72.48)	(\$413.84)
Investment Expense	(\$115.95)	(\$1,097.24)
Investment Manager Fees	(\$6.02)	(\$191.76)
IFA Loan Repayment	\$0.00	(\$3,949.60)
Adjustment	(\$204.57)	(\$204.57)
Realized Gain/Loss	\$13.02	\$1,693.92
Unrealized Gain/Loss	(\$74,293.89)	\$161,617.54
Ending Balance	\$5,204,134.91	\$5,204,134.91

Unit Value Summary:

	Current Period	Year to Date
Beginning Units	531,760.929	490,308.737
Unit Purchases from Additions	828.343	52,939.433
Unit Sales from Withdrawals	(3,546.057)	(14,204.955)
Ending Units	529,043.214	529,043.214
Period Beginning Net Asset Value per Unit	\$9.970077	\$9.483855
Period Ending Net Asset Value per Unit	\$9.836881	\$9.836881

Performance Summary:

BRAIDWOOD POLICE PENSION FUND

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(1.33%)	(0.45%)	3.83%	N/A	N/A	N/A	N/A	9.75%	10/21/2022

Statement of Transaction Detail for the Month Ending 05/31/2023

BRAIDWOOD POLICE PENSION FUND

Trade Date	Settle Date	Description	Amount	Unit Value	Units
Transition Pool					
05/25/2023	05/26/2023	Transfers Out	(148.24)	8.919671	(16.6200)
IPOPIF Pool					
05/01/2023	05/01/2023	Emerging Market Debt Adjustment	(204.57)	9.970076	(20.5184)
05/12/2023	05/15/2023	Redemptions	(35,000.00)	9.927560	(3,525.5390)
05/24/2023	05/25/2023	Contribution	8,000.00	9.837097	813.2481
05/25/2023	05/26/2023	Transfers In	148.24	9.820810	15.0945